Trigonometric Identities

Pythagorean 8in 8 + cos% 6 = 1

sin 6 = cos (%— 6)
Cofunction

c0s 9 = sin (E — 6)

2

sin (—8) = —sin 0
0dd-Even

€8¢ (—8) = —csc 8

cos{x+ J)=cosacos 8 —sinasing
Sum & 8in (e + B) = sin s3+cosasinf
Difterency «ro= tar? acg' tgn 3 “

tan {or + B) = I —=tanalang

€08 26 = cos? 8 — sin? ¢
Bouble-Angle ) .

sin 26 = 2 sin £ cos &
Power-Reducing sin? ¢ = %

slngz + /1 —2030
Half-Angle

2 14 cos @

Law of Cosines

AASD Precalculus Formula Sheet

&= b+ ¢ — 2bccos A

sind _sin8 _sinC

tan? 9+ 1 =sec? 8

_ tan9=cot(%=—8)

cot 8 = tan (% - 0)

cos {—0) =cos 9
sec (—0) = sec

tanx—-B)=

c0s 28 = 2 ¢0s% 0 — 1
tan 20 = 2108
1 —tan? @
cos? g = 1-+cos 20
2
0_ o [1+coso
008 5 = ;
8_1-coso
tan 5 = S

P2=a%+¢?—2accos B

cot? @ + 1 =csc? 9

sece=csc(-;—‘—9)

cscemsec(%—e)

tan {—8) = —tan ¢
cot (—0) = —cot @

sin (v — @) =sih e cos B — cos ar sin 3

tan o — tan 3

1 --tan e tan g8

€828 =1—2sin? ¢

an? g — 1 — 608 28
tantid 14 cos 20

g sin @

tan 2 1 +cosé

c?=a%+ b® —2abcos C

08 (v — B) = ¢cos v cos 3 + sin a sin 3

Law of Sines i e s Heron's Formula Area = \/s(s — a)(s — b)(s — ¢
- — - - ———— .1_ ————————————— ———— —— — —
Linear Speed  v=3 i Angular Speed  w = —‘:
f Sequences and Serles
Sum of Finite '
_n _n . Sum of Finite 1=, _ 8y 8pf
| gzi:itgetic Sp= > (@, + ag) or Sp = 5[23, + (n—1)d] | Geometric Serles Sy, = ai( =)o Sy = —
| z:?mft:?cﬁg:l:es -11_'7 < Euler's Formula ¢” = cos 8 + isin §



Function Operations

Addtlon (- gh0) = 19+ o  Muttplation (/- g4) = 1) - 0
Subtraction  (f— g)(x) = FX) — g0x) Division (g)m = % gl # 0
Exponentlal and Logarithmic Funciions
Gompound _ r\nt Exponentlal — I
Interest = P(1 + '5) Growth or Decay N=Ngll + 1)
Continuous Continuous
Compound A= pelt Exponental N= Nye*
Interest Growth or Decay
Prm?u_ct Pr_o_perly logy, xy = log, x + log,, y Power_ _Property 109, ¥ = plog, x
Guotient Property log bi}i = log, X — log, ¥ Change of Base log, x = Ilzg"‘);
s = S — e e e e = &
Logistic Growth ()= —F&
g fit) 1+ ag~b
Conie Sa_g:llnns
Parabola (x—_h_)?:cip(y_—k)qr_(_y— k)2=4p(x-h)‘ Circle P =rfor(x— 2+ (y— kE=r?
2 2 | 2 2
u1:1+ub§ - | uéy__w P
Elllpse (N perbola Gyt _
bz 82 L 32 b 2
Parametric Equations
. _ S Py Horizontal _
Vertical Position y = v, sin 6 — 2gt~ + Distance X = 1v, cos 0
Vectors

Addition inPlane a + b = (g, + b;, @, + by}

Subtraction in

Scalar
Multiplication ~ ka = (ka,, ka,)
in Plane

Dot Product in .
P!ane a'b—a1b‘ +82b2
Angle Between p0p_ 2° b
Two Vectors al|b]

Addition in Space a + b = (2, + b;, 3, + by, a3 + bg)

Subtraction in

Space

Scalar
Multiplication
in Space

Dot Product in
Space

Projection of u
onto v

a—-b=a+(-b)
={(a) — by, 8, — by, 8y — by}

ka = (ka,, ka,, kay)

TR )
projyu = ( iz )v




